Finding the resistivity of a material

Resistivity is a property of a material that defines its ability to resist the flow of an electric current. The length and CSA of the material also determine its resistance.



Resistance = Resistivity x Length
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R = ρ X L

Ω = Ω.m  x  m




         A


    m2
To find the resistivity of nichrome wire:

	Length (m)
	Current (A)
	Voltage (V)
	Resistance (Ω)

	1.00

0.90

0.80


	
	
	


 Diameter = ……….mm  

 Radius = ……….. mm  = …………….m

CSA = πr2  = 3.14 x (                 )2    = ………………….. m2
A graph of Resistance (y axis)  v Length (x axis) should have a gradient of ρ/A. Therefore find the gradient and multiply it by the CSA to find the resistivity.

Repeat for copper wire.

Compare your values with those given in the Materials Database.
